APPOLO STUDY CENTRE: GROUP IV ANSWER KEYS

101. Which country’s Badminton player was defeated by P.V. Sindhu in the semi-finals at the
Rio 2016 Olympic games?

(A) Spain
America

Africa

2016 MACGwr @ealibds Gumiguie, emuinpdu Gumiguier Curg P.V. fbg abs BTl
urCilenrien eipriisamenenis CHThHEg SSMT?

A)  evQuuler

"(B)  QuflssT

©) L9fssT

D)  smlume

Woman Prime Minister of

UK (Bntam)
(A) first
@/) second
(C) tenth
(D) sixth

oOme 2016-0 Ggrevr Guouws eremueut GfllLgyent wi Quer Qyswrrs

Blubl&suuc L.
A) sz

B) Quewrmbd
©)  upsraz
D)  wpreg




103. Match the following :
(a) Kandla . Maharashtra

Jawaharlal Nehru . Gujarat

Paradip . West Bengal

Haldia . Orissa

(a) (b) (©)
3

QUTRS85 :

(a) a?sdmLa)n

(b) * meuanierd Crp

() wumpdl : G auBISTETLD

anredwr . qflew

(a) (b)

3 2




1.76x1.756+2x1.75x0.75+0.756x0.75

104. The value of = = =
1.75%1.75-0.76=0.7H

1 76%1. 765+ 2x1.75%0.75+ 0.75 % 0.75
1.75%1.76—0.75x0.76

6ot Loghliing
(A)
(B)

©
(D)

105. The value of 16 +7° —23? is

(@27 1128

(B) 7028

(C) 7728
@) 7718

163 + 7% —23% e ALY
(A) —7728

B) 7028

(C) 7728

o) 7718




106. Name the Battery that shuts down on over heating and restarts when the temperature

becomes cool

Carbon ion

Potassium ion

abs s Qeuliubd 2 wmb Curg @eanty giargssiul (), Goflibs Hlomould SarGHin
Quinisg QHm_mki@Gb?

(A)  Cemguib Suwef

B) sHwubd swef

(C) smruer weafl

(D) QumriLrélwib Swefl

4% - :
\,J \ '--n"' "43
Name the person who was app01nt§2&ihe amb&bs&ﬁor on behalf of India to work for the

cause of gender equality and progress @W{OE@&‘ Lﬁ’UNO for the year 2016

(A) Aishwarya Rai "’bb‘rb
™

(B) Priyanka Chopra

@4 Aishwarya Dhanush

(D)  Sania Mirza

2016 <pb oyenrqe pédu prhsafler oamwinde, Quarsaflar o > flenio wHmIb jeursafler

paCapnsdnsns, @ndHureden eriurs Hublssiiu L gist wrr?

A  sevauiur @y
B)  Ofuiasn ol
(©)
(D)




108. Who built the Nalanda university?

@4 Kumara Gupta

1) Shri Gupta
©) Chandra Gupta
(D) Samudra Gupta

BAGTHSIL LOSmensd SLpasams Hmiefwieui wimi?
A Gy Glst

@ S Gust

(©  spdly gust

(D)  sapsdo gust

(A)

(B) Mountmn region

@7 Plain region
@ Delta regloa/}x
N\Z

GHeny @GeTbL gfl 2 (Heur@d LGS

(A) LIGTETSH & L5
(13) weneull LGSl

(C) gwleuefls Li@H

(D) Qe ugdh




If the ratio of length and breadth of a rectangle is 4 : 7. Find the length while its breadth i

77 cm.

(D) 55cm

om Qsacussdlean for somsaidar eAfgb 4:7 @b, s 77 Qe.8 aafldr igar fasms
HITEWTSH ' : :

A 22 Qs.18

B) 330Qs.5

(C) 44Qs.8
D) 55Qs.8

= i
; _:c-,\ ,_;:

o
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IS Adea is

o
111. A room is 5 m 40 cm long and 4 %cﬂbﬁoad
‘ 2 & ,'-\\"' -
(A) 23.4m & o
g
24.3 m? i

4C)  26m3 ' 8
(D)  98.01 m? '

| @ veopurarg 5 8 40 Qa8 Berapib wpmb 4 & 50 A58 @B Qsran(erareae arafle) Bige
LiFliLeTey I
(A)  23.4.5°
(B) 24.3.52
©) 258
(D)  98.01 152




112. Which of the following was discovered by ONGC in the Indian Ocean on 26t July 20167
@ Hydrated Methane
| (B) Hydrated Benzene
(C) Hydrated Ether
(D) Hydrated Octane

erewr@enril HHId Quipans eury Hipeuend Spsar_audnier abss saflgms @S W QuphEs el

9ene 26/2016-6 san Qs ss51?
(A 5Crppd Qupp BCser

B)  BCrhmd Qupp Querer

©) SCrppd Qupp Feiser

D)  5CrppL dupp &ECLe

113.

(C) . Direct Tax
(D) Indirect Tax

apgs wCsmpr @bfu ummEpLaPsHL 20160 BrH ez @Cr el Afiyssns
ﬁmm@@mmuuLLéj? | : |

A  Qurmlser wHmib elpuemar culfl

B)  apéE wHyD Coameu aurl

(©) Cpraps eufl

D) . wveneps aufl .




114.

Match :

(a)

(b)
(c)

Sathya Sodhak Samaj
Jeeva Karunyam
Dharma Paribalanam

Jeeva 1s Siva

(a)

Qurmpsss :

(a)
(b)

S Gargd FOTEILD
g3611 ST (HSTILILD
st uflureerid

sBeumGeu Heum

@) WL, (O

Ramalinga Adigal
dJdyotiba Phule
Swami Vivekanandha

Sri Narayana Guru

o

ot s

Ggﬁg o LGeo

Feumdl eflGeusmerhom

Lf BrrTweRT @&H




115.

3 — 25 here, which of the following number is suitable in —, so that the number will be a
perfect square? :

@ 1 | @70

(o o5 D) 6

3 — 25 arenm araimaniis — GOUILL @l F8le b erair CLITLLILIL LT 28] (P(P QUTESID @D?
(A -1 @ 0
© 4 . .6

The avera{ge mark of 10 children is 80 then their total mark is
A) 200 : (B) 300

- (© 800 | D) 400

10 Gbamgsaian symaf w6 LT 80 & Sjauigefien Qrgs WSLG LT

(&) 200 -q, & (B 300
800 4 \GQ‘ D) 400
CPQ ’2 -“;‘ \)Q!
\}" )
‘%\‘ -\'\ Q

%é‘b’bd e ‘1 ﬁ‘o‘?
CJ

s

. "A man and womaE ax@e@;;g\%;{ﬁn a work. A man can do a piece of work in 4 days and the
woman can do in 12 j‘ays ﬁmﬂ how many days will they take to finish it together?

(A) 6days €
(C) 4days

@M e OO em duer @maumd Caibgl em Caumaenw Caidprisdr. oy o Coimaen
4 prisefld Gewg yiurt. @m Guear <G Camemwu 12 prisefd Qeig glum.
2jeuGatamaanis @) meu(mb Cambg Grgg,smm Brlgafled (pig LILmTaeT?

A 6 BT&ar (B) 5priser
(©C) 4dpriser (D) 3 priser




118. Match List I and List II :

List 1

Glycolysis
Kreb’s cycle
Electron transport chain

Fermentation

<

aufilens I 2 L e cuflens Hlepws @ux@ggﬁ;

5

-
N,

auflena I

Ay spmél

CTEHL_TTET HL_556) srIad)

Gprdsge

List 11

03 is not utilised
ATP are produced
Oxidation of pyruvic acid

Occurs in cytoplasm

Y
[

5
\S} s

- auflens 11

2pSedleer Lwenu(HSsUIL Heudlarenay
. ATP-ésér 2 (peurdlmg)
" eoLimeils Siflen p&eflaGanmmid
e GLmdemmss e pev_QUmISDg




Which of the following is incorrectly matched?
(A)  Assassination of Gandhiji : ) — January 30, 1948
(B)  Republic Day i : — dJanuary 26, 1950

(C) Indépendence day — August 15, 1947

@/} Constituent Assembly adopted National Anthem — January 23, 1950

Wlereu pouaeudpieT AUTBHSTHS) 6Tl ?

(A) srpdugsear ubhCsreana ' —  geuauifl 30, 1948
(B) Gywrs dlend : soameurfl 26, 1950
(©)  sppdlrgemnd ~  &ev(® 15, 1947

(D) Casilw &ssms Sirflwe Hliewmu & DmI&EsTeTERsey — memeurf 23, 1950

S P
Which of the follovf is\mrrectl‘y matched‘?
(A) The Premdcnt — Guardian of our Constitution
@7 The Chief Ministex‘:“é_ — Appointed by the Governor
(C)  Supreme Court Unique Identification

(D) National Anthem Bankim Chandra Chatterjee

dlemapeuetieudmier ergy Filuims Guir@gpbdluyererg ?

(A) Gl UIT&S Seneveu T - Srflueewliber LTgsraiem
(B) opseewsst <2LEsBHrmed Hlublsslu@anmT
(C) 2 FaBSloeTmLD - ST D60 L_ULITEITIRISET

D) Csflu Ssid I UGS sbdly s e




121. Which plan was implemented after the Annual Plans of 1966 — 69?
(A)  Second Five 'Year Plan
(B)  Fifth Five Year Plan
(C)  Third Five Year Plan

@7 Fourth Five Year Plan

1966 — 69 oyeit(REEnES (B L fiser) e penLapenpUiBFSLLL L gbsTan(H S ib e7g)?

&) @GuewrLmbd phsne(H S Lib
B) mHsmD gHsTETH LD
APETDTLD b aTenT(h SHL_L Lb

BTETSTLD gha et (h Ql'_l_i.ﬂ

\}Pe\

0}' - -.)I... o
ey e
“Bachpan Bachao Andolan” i$ cﬁogh\pisatiﬁn that fights against

)
=

N
MChiId oo 3

(B) Bonded labour
(C)  Child marriage

(D) Poverty

“umguren LEGFTe BCHTRET GTETN DDLU SPSETLUDNIET eTaHHETS CFuduBing?
Q) ewbes Asmeraf
(B) Qanrssigeno

(C) umellw eSleursid

D) eaumenw gty




123. What is the chemical name of DDT?
@4 Dichloro diphenyl trichloro ethane
(B) Dichloro diphenyl tribromo ethane
(C) Diphenyl dichloro trichloro ethane

(D) Diphenyl dibromo trichloro ethane

DDT-uferr CGeudliG@uiwiit eresreo?
(A) enL_@&HGermGrm enL_1Senened 1g.eny@hGenmGrm e Gs 60
B). oL @GCarmGrm enLSenenev igengGrmGom r&Ggem
(©) oL Senenad enL_@CernGrm igany@GermCrm s Gg e
(D) erSemere enLCrmGm qmgg@mrr@@g},@gm
Q’s
c"!"a ;-3*’ A
\Cpqods.-' : e

‘6“;-‘:!."3 “n
P A

\,\j : e B
e\ ‘_\.-l:-. .
i '{"“- .

‘ﬂ

Disease causing virus in man

Disease causing protozoans in man

en&EGCrrevCGunmyb, et 9@ _mBurlien Ll L_mesT wWireneu ?
(A) weilgaticr Crmi ghuBSHID unse Mwrsser
(B) weaflgeafle Crmi gHuBHSSHID &@m&a&aﬁ‘r-

(C) weflgefle Crmi FHLIBSSID OeuFavEET

(D) msaﬂg_auﬂd:- Crmi ghu@ssid yCrml GLrGsreun&gser




125. Which year the Constitution of India (61 Amendment Act) lowered the voting age from

21 years to 18 years?

s e @B opdwed ooy slb (6laug Hmsss s.id) ug arsgflan awg
21 aww i 18 28 @enpaEsliulLgi?

4) 1988

(B) 1987

(C) 1986

(D) 1985

126. Article 63 of the Indian Constituti ‘i’e&rs tq b@ o
@6’ > -»‘{;’D (9‘)‘)

@7 Vice-President ‘soﬂif’ R

(B)  President ¢ S *’b “§°

3 & r»
(C)  Prime Minister \\»f"'
%

(D) Governor

@i srfue smolide sr58 63 GHLIGGaug
A)  goerr GigLIES ST

B)  Gywrs smeu

(C) Qs wpHM

D)  yempi




127. Which year has a special significance in Indian Economy as far as Economic Reforms are

concerned?

A) 1952

@pdu Aurgemsrigems  Auipssempde  aby @G Curgersry  EiSBSsENEG
@p&slLSgIaIb UTLES RETpTELD?

A) 1952

(B) 1981

(C) 1991

D) 2001

. C K
‘.\9‘:\ S o

‘\'\%- P2 a““ 6t
128. Where is the diamondﬁoﬁfegin@ugw;@ﬁ%ed in India?

\d i _\’,: .
Lucknow , W qb.f"b

e
P
ch

(C) Ludiyana
@) Chandisar

QnSwreile eeurid 2m&EELW Ggr@] DETene 6ThiCs eHSIETETE) ?I
(&)  @&Ceam

®B) @B

©  grflwmem

D)  samgqoni




If you stand in a rectangular room, where two adjacent walls are covered with plane

mirrqrs, the total number of your images will be
@Iinﬁnit‘v

®)

@) 0

@@ Qscias 2ampuild F05eT B ST UTmSSILLL @l}dﬁr@ 2ARS50E5 seuraEnsE GoLGu B

A arafler, 2 angy Guonss N bLksadn aanafléms asman?
A)  apraeied

By ' 1

TR

@)

130. Audible range of rabbit is
/ 100 — 32,000 Hz

%,O(}o —1,50,000 1}?0‘39 i
b S 3 b

(C) 1,000 - 1,00,000

.
Z o i
84 W

(D) 900 - 2,00,000 Hz

apwiailer blFedlu e &m {80
A) 100 2 32,000 Hz

(B) 1,000 - 1,50,000 Hz
(C) 1,000 -1,00,000 Hz
(D) 900 -2,00,000 Hz




131. Consumer Courts are set up in ————— tier system.

B&TGeunt Awennhiser ————— DABEGHTS SAsLILL (dTarer.
Ay 2

®B 3

(©)

()

132. The Tanjore king who-hew%‘éyana;gar k:u;g’m the battle of Thalaikottai was

b Xl

(A) Sevappa Nayak @e}'"\ :

@7 Achutappa Nayak

Ragunatha Nayak
(D) King Sarfoji

sanesGarlent 1 Gurle eflmupsy enang)&a 2 g6l (&g SErens ereaTe
(A) Geeulu prugs

(B) <sssLL tmrrmé;as&

(C) Qreprs prussT

(D)  erCumgd webeni




133. National motto “Satyameva Jayate” hence forth appears as “Vaimaye Vellum” in Tamil was

announced by

(A)  Arabind Ghosh (B) Periyar

(C) Kamaraj Wnnadurai

‘guGel Qnus’ aanp Siras @@éa@a;rrm-sﬂ slfler aumiientoCui Qeudgih eremmy wrdBlwieu
Ay  speips Came (B) Quflwumm

(C)  smwymer (D)  emremtmgiany

Where was Dr. B.R. Ambedkar born?

Mlhow . Makkavu

(C) Sarayu @ Lucknow

Dr. B.R. sibCugant aps eafle Gng
A)  wsey

©) amy

How many years V.0.C. was sentenced to imprisonment?

A 30 .. B) 35

@710 @) 34

a2 8. Slanms saT_enar TEFHME e (HEeT ummrT?
@A) 30 B) 35
(© 40 ) (D) 34




136.  The breadth, height and volume of a cuboid are 10 clm, 11 em and 3080 cm?® respectivelr:
Find the length of the cuboid.

&) 2lem
W% cm
© 24cm
D) 30em

@M san DFdiaissdlen S, 2.wgb, sasiare| (panGu 10 Ga.8., 11 Ge.8. womb 3080 Qs.83
earafle) Digan Henrsang s M. :
A 21 QE'LB.
(B) 28Qs.5.
(©) 24I@5‘lﬁ.
30 Q&.15.

137. Which medicine is known wmﬁj‘: T
(A) ATROPIN - e ‘*{’ w2 o
(B) POLYMIXIN qxeﬁ
(C) STREPTOMYCIN =

@7PENICILLIN

“mpgisetien @rmeant” erar é{@g@&&;uu@m WGBS @LmHeT 61 ?
A) <= CrmQer
(B)  urallsar

C) e QuiiGLmaninder

D) Quefficdian




138. Identify the 2016 Dhronacharya Awardee

@7 Bishweshwar Nandi

(B) Lalitha Babar
(C) Rani Rampal
(D) P.V. Sindhu

2016-syb oprig air ‘g Crmanrmamiur ofl s QubDeT @eunBld wmi?
A)  AevGeusyeurm BH

(B)  eallgm umur

(C) @ rmewfl FmbLimed

D) 9.6 sy

139. The Asian Junior Chess Champi

(A) Chennai
Mumbai
Kolkatta

@A mOaflui Qee smbuismadlis Cum iy, G, 2016- 6@ peLLIQLIHDE?
(A) Geerenen

B) o

(C) Qaras’Lm

D) yg Qe




140. The leading producers of jute in the world is

@7 India and Bangladesh

(B)  Srilanka and Pakistan

(C) China and Japan

(D)  Singapore and Malaysia

2 adle sanred 2 HuUSSUSled apeerentludley 2 crer Br(HaEeT
A)  @pdwur wpyb eurkisTarCgeb

(B) Qemmswpnbd urdevsrer

(C)  &enm wpmitd guuné&r

(D) SAmslyr wpmib wCadlum

141. - Asteroids are found between 4C

O 225
@7 Mars and Jupiter é@ A
¢

-
Fasy

(B) Earthand LN

e

£y

(C)  Jupiter and Sat,urﬁ\: '
(D)  Mercury and Venus,La.'bn’@
o
GnaCanaTaeT GanaisEhsslanL Guw éﬁllmm‘ﬁ)g@mg
(A)  Qsaieumiigeb eflumpe)s@b
B) uywlaeb @.a;cshsurrqhé;@l.b
©) eﬂu_lr@@jé@m #Gnﬂéa@Lb

D) usasEL QeuerallsEbd




142. The price of a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. The

percentage of decrease is

Q) 10%

@/_.} 20%

©) 30%
D) 40%

e oilyer alea 15 @elsb mumidphbg 12 el b pumuTss GoDHss el G®mnhs

esalisid

@A) 10%
B) 20%
© 30%
D) 40%

143. If 3¢t-3)=5(2t+1) then t=?

3(t-3)=5(2t+1) erafler t=?

B

-

@ 2
-3
D 3




144. Who is the Chief Information Commissioner of India in September 20167
(A) P.K. Sinha
(B) - R.K. Narayanan

& RK Mathoor

(D)

PBHU HEDEDLD FHEUG SLENETUIT D45 Ggﬂpmuﬁ, 201660 @(mHseul Wimi?

(A) 19.Gs. SHeramit
(B) <=, T.C&. BTTmwIenTe |
. (C) <4,7.Ca. rsHanT

(D) 241G, Q&GTTGi;

- \ ;l‘;r':, ;'
2 : > :’:' 5 -_."_'f:‘ bti;b
“Operation calm down” is gssomatedfmtliwwhlch state?
- ik

i
~
N riy

(A) Tamilnadu L

(B) Andhra Pradesh

“ 2 1Crag e SHITLD Leen eTeiLIg) 6Tih LomblavdagiL s ng_r’fu 2 Gnl_ Ui ?
(A) sl Er{

B  =pdy G9Gssid

(C)  mbap sreiqusSi

(D) Ssrr




146. Which of these describes the conquest and victories of Samudra Gupta?

(A)  Uthiramerur inscription

@7 Allahabad Pillar inscription

Thola i 1nscr1p tion -

(D) Ashokas inseription

FAPSSIGLUST L Cu Gl Qeundlsemar upil ebhs saGeul H elflairss @GOG A g2
A) 2.585CwmT s’ [

B) s@aturs Frar soCa{H

(C) 2CaprCGe selaul{

(f)) SiCerafean saGeul (B

Who was the last Sultan of D%&ﬁf&ana@qﬁp‘:@

3 <
Mlbrahlm Lodi §0 -; g % :,,"b
bf'-’

Sikkandar Lodi

(C)  Ibrahim Al
(D) Dowlath Khan Lodi

QLevall Hevpraflwisdlar sanL_g oo wmi?
(&)  @urradlid Geomg

(B) él.ﬁ;as;_‘r;g,ﬁr Gavorrig.

©) @ugrablib 6

D) CAseaas smer Geomig




Simplify

Tt LR
Bk g B

@
47

98

(C) =

F(HH(HS
;¢ 3 5 T 3

b—4+4—+T—+6—+11—
4 4 8 8 1

98
47
98
45

(A)

(C)

o " . A
‘\3_'\\\:_\-.‘. i % -'-“‘:“’ 3 ,.’l" ﬂe’

Find the rate of interest at \h‘pﬁ?{g.m og mcme?r becomes % times in 2 years.
» \

W 2

‘u'

it

.

@e‘”‘

@I DFTarg 2 auHL_ S5l % OL_MBIESNS 2,@&Getlen, 2seam aul_ly aSl&lFD creucuema)?

A)  691%
B) 671%
) 621%

D) 611%




150. A special root-like structure in cuscuta and viscum is called
(A)  Rhizoids
@7 Haustoria
(C) - Hyphae
(D)  Stolens

savsulLm, eflevsnd  Cumenn  sreurhisald  sreTLIHID le_':urrw Caufrgdr  @eua
<2/@p&aLiL Hdlene.

(A) Caufflser

(B) enmevCLmflurdser

(©) @epliLndser

(D) wGLreer

@,&"ﬁ

<
& e.*q,é S

Which of the following is observed@ ‘N'gtmpaff Gnrl Chﬂd Day”?
L i Cad
(A) 8% January f e e

(B) 21t January

(C) 220 January

@ 24 January

2 s Quar Gubamasdr Searbd eriiCurg SiaysfsstiuBEng?
A) s 8

(B) smemeufl2l

(C) gemeufl 22

(D)  menaufl 24




Match the following :

(a) To eradicate the inequality in the society 1. Beliefs passed through the generation

Women depend on male companions 2. It proclaims the fame of
Dr. Muthu Lakshmi

To stop the customs of child marriage . Social justice

Cancer institute at Adyar . Prohibition

(a) @ - @

4
1

siluirs QUTmESIS :

() &eps gm SMpeysemeT £ 5 o . STORIETOLNE USBS erabranTid

(b) Quer oy _aewy FTiHECS GIJHQUGI:I.@I@

: <<
©) BYrbos dovados sOss Hnssieus 3. seps b

2. Dr. ppsgieolsblulflar yseip urlivflng

Sj@Lwnm UpnGCHTL WHSSHeILDEHET 4. oL & LD

Qaraw(® ubsTT
(© (d)

4




E

1
[

_—
[2%
oot

3
7
5
7
11
1
19
7

The population of a city in the year 2014 igy?3( \
Find the population of the city in the yea@?20

() 2,40,000
(@7 259,200
©) 255,000
D) 254,300

@@ hBErsdler wasdr derens 2014-6 1,80,000. i @eubleurm par@n 20% Gu@@mrrmrreﬁ
2016-p1b parr(h &SET ClGTand eTemen?

(A)  2,40,000

B) 259,200

(C) 2,55,000

(D) 2,54,300




155. Consider the statements :
(a)  Sterility is caused by the deficiency of Vitamin K.
(b)  Night blindness is caused by the deficiency of Vitamin D.

oth (a) and (b) are false
(a) is false and (b) is true

@ (a) is true and (b) is false
Both (a) and (b) are true

ST SpOIS@ET Saua] :
(a) @edumsss dswe G@pu® (Lol (S sarmwo) meul L Liler K gopaame ghu®dns.
(b) wrewssar Crmu el Liflar D ganalamd gouBdng. -

A) (a) womwb (b) supretene
B) (@) seup wppib (b) &
©) (a)sM wppid (b) seugy
(D) (a) wHmb (b) Fflwrarene

Nl
\}9 W f;:s-- iR
9 80 '3’
156. The valve which regulates th@¥losd, ﬂo\v om ventricle to the pulmonary artery

N
@7 Semi-lunar valve L o QS"

Auriculo-ventricular valve Qo._"bb‘
(C)  Bi Cuspid valve
(D)  Tri Cuspid valve

g Ceuam_f&safledlmna) ( @g)u_}és &wenn) menguire sweaflsE GTss0 QFdams @(EIGLUHSSID
eumevellen (enLiLimesr) QUi

(A)  YGepspdlr eumerey

B) =fsgCar Qeuan Aé@eamt auraay
©) s eumeey

D)  apais airdey




157.

The election process at the state level is supervised by

(A)
B)

@)

Chief Election Commissioner
Supreme Court Judge

Chief Electoral Officer

High Court Judge

mfle sereliler Caiiga perL_(pampens Cuphurieneuuf@Guielt

A
B)
(©)
(D)

Fenaenld CoHTHE o,enemTi

2 Fspdlweny SHLS

Fanaenld Cairser bHamihl

2 wirBHwenm BHLiS .

Find out the correct statement.

The Indian Constitution contains g <& Pt
2

(B)
(©)
D)

X1I parts, 449 Articles and 1 c%eﬁ‘ul

;59
XXI parts, 438 Articles and 8 Schediﬂegé‘_'bh
XXIII parts, 469 Articles and 21 Schedules

XX parts, 428 Articles and 18 Schedules

sflwren eursHlwsens s

@BHw SIrSluieenioli] Q&mesor (Hemeng).

@)

(B)
©
D)

XXII unstuser, 449 spss166T DHMID 12 oI L_cuenenTaaT
XXI ursiiser, 438 Fr5815&6T HMID 8 B L alenen&aT
XXIII urshiser, 469 srsgiseT WHMID 21 @i’ L cueneRTEeET

XX ursnisar, 428 srssiser wHmib 18 =i L aienewrser




159. In India the organisation which was responsible for self-sufficiency in food production was

Qipdwim o arey 2 pLFHude ganallenpey SepL_aishHE sryemiome Himicuend
@) @pdu sifedud wpmb Asmidmr L syymis Hneans (CSIR)
B) @bdu Couernanr opymiiFs Hipesemd (ICAR)

@ndw efiamQeuaf L rmiEs Himeuend (ISRO)

QS wmEsia @rmiEs Hyeend (ICMR)

cﬁ'ﬁ@

\.QQ -‘ﬂrﬁ '\

160. As explained by Robert Malth 'ﬁxﬁfﬂgﬁ%ﬁes in the

eP" x'\" bf"

A C

Proportionate ratio
)

,an"
@7Geometnc ratio o
o™

(C) Arithmetic ratio

(D) Smaller ratio

w&&6ET GgTans Gealflssdd 2fsNsdpg erenm rrum’ IO gafuig
(A)  Adlgrseny HdlgsSed

B) Qumsse ldgsHe

©  si®adfssde

D)  fny flflpsHle




161. How many electrons are there in one coulomb charge?

() 16x10™° electrons

@/) 6.25x10" electrons

(C)  6.25x107"® electrons

(D) 1.6x10" electrons

1 gagomb LﬂG&T@m'_J_‘é';@d-} o e aesL_yranseien eremaléams TEHHNE?
(A  1.6x107"° arevdl prenser '

(B)  6.25x10" erevéL prenser

(Cy- " 625x107"" Gra)&;l'_u'rrs&résh

D) 1.6x10" el grenser

f-:a&s*‘\'

‘ N - \é 5" i2 ‘:b =
A bullet of mass 15 g is horizontall ﬁ@?@ ﬁgﬁﬁ velqeigibil)(} ms-! from a pistol of mass 2 kg

Total momentum of the pistol an "o befpre ﬁ.p‘htg is equal to
(B) 2015 kg ms-! &~

(C) 215kgms?!

(D) 200 kg ms!

15 &mmd Aeopwerer guursd Geanm® 100 dei?! Ceaussed dHarwliiors sLLUGEDg
guursdullen Blenp 2 £& erefey &@ajgm@ (pei @uurra;(ﬂ LHMID @m@ Flwepder Qrss 2 Hsl

GreuTent?

@ s _
B) 2015 &4 Bad-!
(C) 215488 Bad-
D) 200 HA el




163. The Third Asian Ministerial Conference on Tiger Conservation 2016 was Iheld
~ (A) From April 9t to 122 2016 at Orissa '
(B) From April 14*h to 17t 2016 at Calcutta
@7 From April 11t to 14t 2016 at New-Délhi
(D) From April 6 to 9t 2016 at Mumbai

2016-a Yyl urgsTiiys S b GNSs! epemmeaug 2du enésrael sal L b erhiCs eriCumgy
BenLEUHmE? i gF

(A) 2016 gfigrella, gligd 9 apse 12 apigu

(B) 2016 Qanebaggﬁaﬂéu, eriuged 14 apsed 17 apigws

(C) 2016 ygidleeSluded, eriuged 11 apged 14 apig s

(D) 2016 gpenuinle, griaged 6 apge 9 pigu

S
Indian Constitution Drafti it
; WS 4 Lt
(A) Dr. Rajendra Pras O ok T ef
Pni “{c\'ﬁ Qp‘

ot

(B) Jawaharlal Nehru

A
@7 Br BE Aabedlas - 9%

Qs sipflueenoliy QuEnTad Gpellan Femeeur
A  vLmair QurCmpdlr Grens

(B) meuaniamed G‘r_ﬁ@

(€©) vLmeLr Lcl].-%l,l"ﬂ 2ibCugseTT

D) smpd




Which is known as the “Murmering Auditorium”?
Golkonda
olkumbas
(C) Gulberga
(D) Jumma Masjid
"PEIPESGSL DTBRISD— TG AMPESILHIIG THI?
A) . GerdGsreini '
(B) (E&sné'u@Lbundu
(©) @e‘bufra;rr'

D) oObwrwEEs

(C) Shahjahan
(D) Jahangir

E&8w @ Com Lsgrany Asreame Q&g (LPSETL LDETETET WTT?

(A  =sur

B) eqearrsél
) s
(D) maenridi




167.

Find the next term of 4 in the seriesis 1, 1, 2, 8, 3, 27, 4, ...

A 31 - (B) 29

© 16 - A

1,1, 2 8, 3, 27, 4, ... erenp Qarilen 4-0@ 2ABSS 2 mLIL?
A 31 B 29

L

16 (D) 64

Three angles of a triangle are x — 30°, x — 45°, x+ 15°,-find the valﬁe of x.

(A) 60° B) 40°

S o D 10

R WECHETETSSE e GamemT s X —ﬁ} 45°, x+15° arafléo x-n Sy
& 'Kw

" F {2

A) 60°
© 80

The difference between simpd8interest and compound interest for a sum of Rs. 12,000 lent

at 10% per annum in 2 years, is
(B) Rs.90
(D) Rs. 100

m. 12,000-8@ 10% ey s aafid @ran® gar@sdia doLseh i@ alysed
safleul g &@Lb-2_erar efl GEluimaLd

A m. 80 ' _ B) . 90

© @ 120 D) 6. 100




170. What is the name of Ganga river cleaning scheme"

: MNamaml Ganga scheme

Poorva Ganga scheme
(C)  Apoorva Ganga scheme

(D) Ganga Yamuna scheme

shians plenw nimolupssibd S sdear Quuim eremer?
BLOMSl GhisT Ql'_l__Lb
Wireum SmsT gL b
 SILLTeuT SRS Sl 1D

SEIST WpenT L b

&

171. The INSAT-3DR was launched thr rfocket— for mﬂﬂetereologlcal Research on
8t: September, 2016 by which rocket” i & :,3&}

] y L ‘-.1 ‘;Q 1."3
GSLV-F05 o N A :
; -.'. ;":’"
rg,.i

(B) PSLV-4

(C)  Arianne
(D) GSLV-3

g qrsGsL epew, eflenteusfl gyrmusfssns INSAT-3DR-ow, sLjs 8, Aeliibur, 2016 ey
eflelleuelsE Ag@tiuiulLg?

(A)  GSLV-F05

(B) PSLV-4

O <oflwner

(D) GSLV-3




172. - The shortest National Highway is
(A) NH 48
(C) NH45A

Blas@aonbs SarapaLw CsHlw QpHErsrana
(A) NH 48 (B) NH9
(C) NH45A (D) NHA47 A

173. Match the following :
(a) Grey revolution ' : 01l seeds
(b) Golden revolution . Eggs and poultry
Yellow revolution : Marine products

Blue revolution " 4. - Horticulture

(c)

@

1:

1
3
4
4

\p

EpssarTcubenn GL n@gﬁe_“ C’t -

(a) &mbueé Yyl d il _::.j--;i';:;;akerTu'_l eN&g1& a6

(b) Qumew Yy & o A L wpnb CamblliLiamren et
(¢©) epFer Ly f - ; &L QummpLser

(d) Beodym & : L Upr&eT 2 HuSH

A)
€2))

©
D)




A man bought an old bicycle for Rs. 1,500. He spends Rs. 500 on its repair and sells it for -
Rs. 1,800. Find. the percentage of his loss.

& ox
B) 15%
©  20%
@) 5%

goa . 1,500-48 @@ umpw Bfauamiow aumkd sidd . 500-6@ LgEmar Bé@S .
Wyl i Sips WHaamgamw @ 1,800-&g oApAprg, aafid e SeLwyb peg
spldlgsamss anair. :

A 10%

®) 15%

€ 20%

D) 5%

Find the LCM of a®b*, ab® and o’

@ o'
@ o
© %
© ab’

a’b*, ab’®, g% en 18, Qum.o. snaws.
@) q¢'b’ .

®

(©)

(D)




176. Which State Governor was appointed as Tamilnadu Governor additional-charge 1=
September, 2016?

(A) Kerala
(B) Karnataka
[aharashtra

(D) Madhya Pradesh

aps wrhladdlen ;%@;bﬁ SODBETH Lnrr@mgﬁén &L@gm Qurmiy SyepErTs QelLbur 2016-a
ugell GHpmiT? .
@) Gaya
B)  siprLGT
(C)  wayreggyT ,.
@  wdu GrCssi . (© ﬁf@"
PoNt) &

.\' r‘. ",-.‘,l “\Q ﬁﬁ

: R s )"J\\r‘@'
X '\"
rﬁ&"t‘ \-’ ;, &“c
\‘0‘-/“- i'i-"‘Tf;“-""
c-' N

R
177. Which Musician was honoured ‘lw‘Aug‘hst 20186, by United Nations Organization for her

o
_;

contribution to music?

@7}4 S. Subbulakshmi

Asha Bhosle
(C) Lata Mangeshkar
(D) M.S. Rajalakshmi

ysavL gD, 2016-6, gEdu prRsd sould ahs Bmes swaeyT Qsenyellésriur Lmi?
(A) . M.S. suyel s 32

B)  <ayr Gurr@i)(ﬁm

©€) s mrEJGa;élysr'r

D) M.S. grrgal s




179.

The Pallava inscription at

@7 Kudumlyan Malai

(B) Mamandur

(C) Uthiramerur

(D) Mahendravadi

qa;;'p@ugb,ry @Qeas smaET 2 madrrerfwrt updl UdwaTsarg

(CIUUNTRIOEL )]

A)  GOHBwer wow
B) wmo&TE

©  2587Com
D) wCapireums.

During the age of Kalabhras, a Jaj

Parsava Munivar
(C) Mahavir
(D) Maha Kasabar

,ﬂa

refers to a great musician Rudracharya.

wni?w’ho e ilﬁfed Dravida Sangha at Madurai
. 4‘\ Rl (-. “66
W 315‘ R
S
i
™

serldlyi sresEld wgmpudes Srreil shissms ghURSSL soms sipal

@A) agnpss
(B) umiseu apafleuit
(C) wamelyr )

D) wsrTssuT




180. Which of the following set of measurements will form a right angle triangle?
A) 6,912

&Gy Qar@ssuul L seraysaflcd eraneu QemiCarean w&Caramgams &G ?
A) 6,912

B) 5,810

(© 5,5 542

D)

Jﬁﬂs +J243 +J60 +y7+4/81 @ wdiny

A) 20
B) 25
© 16
M 9




182. Who among the Indian-born American scientist bagged the prestigious award
Lemelson-MIT prize worth 5,00,000 dollars?

(A) Ajit Doval -
(B) Mohamed Nasheed

Ramesh Raskar

(D) Jagdish Tytler

2Gwflssreller sareudéss eflmarer Qaweasar-eibgmy (Lemelson-MIT) 5,00,000 _reoi ufla
- GQuip @pHhu aubareu 2Qwfés el @pepnad wmi?

A) =5 Carad
B)  psiog pakd
(©)  yGuey paigsit
D) gsby oL

@cp"

Who won the GD Birla Award for&é c E@ge‘amﬁqﬂ%he year 2016?

(A) San]eev Galande ‘30 ‘\o «T' N " ‘%\b"‘"
e‘ q,‘b

"'4

(B) Raghavan Varadarajan Q\‘*’” '?' rb'b

Q"

(C) Sriram Ramasamy ."l-

T
M Sanjay Mittal

2016 b @i parar Siflefiuc syrmiEdssrar GD Gier ol mSamar QUbDaIT WTT?
A)  sgsda Harairg, |

(B)  ognseuen aunsmgen

(©)  yuhymbd grwsmd

(D). F@hall O L &




184.

Who won the Rajiv Gandhi Khel Rathna Award for Badminton in the year 20167
(A) Sakshi Malik

(B) Mary Kom

(C) Pradeep Kumar

@7?}& Bendbu

uriflawr e elenemuim_igHaErs 2016 2ib gyewmg e prgiel srhdl Caed pserm efl(Hang GuHDeur?
(A) esmsadl wrells

(B) Guf Gsmb

(C) Qgdl Gomit

D) 19.6. Apg

5

,q’ Cﬁ’ 5 fl'bb

. . Which year has been declared by ﬁmé'glaiqe ‘:Intjmag@ial Year of Pulses”?
. 3 Jd‘:, (b?’

A) 2012
(B) 2013

@7 2016

D) 2015

aThS eu(HLSeng TeuGse LmLILY IGLI@I_LDITE .5 SienwliL Hlels5s5?

- (A) 2012

B) _20 13
(© 2016
D) 2015




186. The base of a triangle is four times its height and its area is 50 m2. The length of the base 1
10 m

@0 wiCaramsdler SlgliLssb, 2 wWrsfdar 4 LBIEGEE Fob wHNb g ugliuerey 50 152 aeafle
DISET DlqLILISES |66

(A) 105

187. A can do a piece of work in 20 days and B can do it in g%w Qﬂ’oth of them fu:ushed the
work and earned Rs. 3,600. Then A’s share is

D) Rs. 3,100

A gm Camaowu 20 priselgid, B gms 25 prisefigid Qaig epulur. @meumd Carmbg
SeuCauanavaenw& Qg . 3,600-g Friig armed Si50gTamsula A-ar ukig

A) @ 1,600

®) . 2,000

©) & 3,000

®) . 3,100




188. Owulation is stimulated by
@&/ u
LTH
(C) Renin
(D) Adrenalin

i AGUBS@DS Srem B apTiGLoTET
(a) LH

(B) LTH

©) Gliyeflenr

(D) =i feredebr

(A) Araucana

@7 Ephedra

(C) Gnetum

(D) Pinus

WL s aunssas & Geanwl nwearu@b sfibCarmevGEUImb Sreurb 6rgi?

(A) =irsCGaflwm

(B) enSd  gw




190. Who is the chairperson of Niti Aayog?

(A) President

M Prime Minister

(© Vi;:e-Presidént

(D) Supreme Court Judge

Hl$8) 21Guiné-@)en senaveuir wiri?
A  Eywurs gt

B  Grsw wHHM

©) g GuLrs @@
D) =68 pHodnp fHuH

191. The writ of Habeas Corpus is

@71‘0 safeguard people from ﬂlegaﬁﬁt

(B) The Petitioner who requir legal }nelp to get his work done by respective Publi
Authorities R

(C) It probability a subordinate court from acting beyond its jurisdiction’

(D) It prevents usurpation of a public office

<\ Qarenri B8 CLigTenemT eremLig)

Q) FlLsdDE yDLUTE aeg QaicuSd(hHs ES@MET LTS GTHS60

(B) AeTETUUSTITEEFEE UL 2 gl oafigg Aurg QFrsams LUTFETHSD
(C) gewenr B8 wenpriser bl Wl AawduBeams sl QFligD

D) Qurg seesEsmaT AESTOLIL Qelicums gL Qalgd




192. Net National Product is

(A)  Gross Domestic Product — Depreciation

@7 Gross National Product — Depreciation

(C) Net National Product — Depreciation

(D) Net Domestic Product — Depreciation

Blar B 2 Husd ereinig)
Qurss 2 e () 2 HusSS — Callinmeand
Qorss B 2 HusS — Calioreand
Blar pri® e pusd — Cawiorerd

Blay e arpr® 2 pusdl — Calionand

When a person lives below the mmm-@
.g:
Absolute poverty .-,,
\;Q)
(B)  Relative poverty Q‘eo
(C)  Abstract poverty qé*q'

(D) True poverty

ampagsH@ Caiamgw Ganhsul g awsdsEps@s G eaT eurupd aupenn Hawemw @dieumm

FaDETLD

A)  yewureT aipeLy
(B) LG aupeo

(C) &mssaupeio

D) 2a@werw aumienio




194. Why vegetables and fruits turn brown on cutting?
Due to the reaction between phenolic compound and oxygen in air
(B)  Due to the formation of inorganic compound
(C)  Due to the formation of salts

(D)  Due to the formation of bases

sMLSMHEET LHMmID Liphisamer Qeul g evausEd Curgl uegliy Hipwrs wrmeuCsen?
(A)  sroflgierer gy sefigear womib Samrellé Carwibd efleneryfleugme

(B) saflo Caudlu@unmerser 2 (heumeugmed

(C) 2 Uysser o (haumeusTad

(D) asrrRsdr 2 (Heuresme

f?-e.' S

Ab"
195. Among the following which one is not qm‘z%

(A) Anabaena .-- qu‘},b(i@‘ﬂ'

(B) Nostoc e‘:' o

s 1:3-5 b
@7 Lindane ,,;5

(D) Rhizobium d"

Yereu(meuareupdled erg) 2 uflfl-2 b 2ieve?
(A) sienSenr
B) prevLrs
(O - \T= (6

D) erCsmAubd




196. Match the following :
Part-1

Raj Bhavan
Rastrapathy Bhavan
Impeachment

Lt. Governor

QurmSES :
uGS-1

JITEQLIGU €T

TEglq TLIG LiGueET

Qs Grrs eleTrananT

sanion S

(a) (b)

4
3
2
1

Part-1I

President
Governor
Union Territories

Violation of the Constitution

wieflwer GyCoamiger

<ré&lweveniolin) Bmed




&;

198. If 22 men can build a wall of 110 meters in 10 dayscﬁ;&ﬂl of a similar wall built by
~ 30 men in 6 days is S

(A) 100 mts

22 oy ser 10 prisefid 110 § Berqpdrer seueny sy (pussTed, 30 Yy sar 6 prisafler siiiy
WPiy&@Lb seufler Ferid

(A) 1008

B) 908

(C) 805

(D) 705




199. Who remarked “The light has gone out of our lives and there is darkness everyvwhere™?

(A) Vallabai Patel
(B) Dr. Rajendra Prasad
(C) Mount Batten

M Jawaharlal Nehru

“BLb eumpeiled gparfl enmbg eTRIGD G)HeT GLpbg 6N L g erens saBlweur wimit?
A  eaeeumi G e

(B)  Dr. ynGxpdly Grens

(C)  weyam Gui L e

(D) ga_l@.ﬁ)r'ra).rrsb Crm

w? "—'I

200 Who clinirad the fimst scssion of the Tndink Mk %ﬁs held %t Bombay?
Madan Mohan Malavya e

@7 W.C. Banerjee

Pherozeshah Mehta

a}’

Surendranath Banerjee

weuudd peLdubp Gislu Csslw srudlrélear wpsd smilL SEDE S eudlgseuir wmi?
(A)  wsen Gorser wreredwT |

B) W.C. Limesissl

(©) Gu@vrr_sis;aq:rr Coggm

D)  &Cppdymrs uranig]




APPOLO STUDY CENTRE

25, Nandhi Loop Street, West C..T.NAGAR, Chennai-600035.
(Near: T.Nagar Bus Stand, Landmark: Nandhi Statue)
Website: www.appolosupport.com
www.appolotraining.com

Email: appolotnpsccoaching@gmail.com

PH: 24339436, 42867555, 9840226187




